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o oting e Appropriate parameter table. Compare this
v RN i wmpm with the one Tormulated in part (@)
n‘mNi"‘Lﬂ () for the problem as formulated in part (@), Com-
@ m‘:‘:’:{‘ DI solition obained ith e one from part (A).
|

4 Stanting With Vogol's approximation method, interac-
N »I\ (e (ranspotation simplex method 1o solve the Job Shop

e it problom # formulaed in Table 826h (As stated
‘5“«’::\l§ \ the resulting optimal Solution has xi4 = 1, xa = 1,

P gy = 1 and all other x, = 0.)
W
‘” Reconsider Prob, X.1-6, Now assume that distribution cen-
bt y and 3 oS receve exactly 10, 20, and 30 units per week,
thea If_(;;.".]., For adminisirative convenience, management has de-

"“""T'm ai each distribution center will be supplied totally by a sin-

mwwu. <o that one plant will supply one distribution center and

ﬁ:: Stim- plant W i“‘ supply the }“ht‘l' WO d‘n.\u?bunun centers. The

Jolce of these nmgmnrn‘h a! pl_l:mt.\‘h\\ l'li"‘lhl"it\‘l\ centers is 1o

]'\. made solely on (he basis of winimizing tolal shipping cost.

m? Formulate this problem as an :lhﬁl;;!}lll\t‘t\l problem by con-
sucting the appropt jate cost table, including identifying the
cnn‘c‘f-i'"“““"? assignees and tasks,

¢ () Obtain an optimal solution,

© Reformulate this assignment problem as an equivalent trans-
portation problem (w ith four sources) by constructing the ap-
propriate parameter table.

¢ (d) Solve the problem as formulated in part (¢).
(©) Repeat part () W ith just two sources.

¢ (N Solve the problem as formulated in part (¢).

238, Consider the assignment problem having the following
cost tble,

Job
1 2 3
A < 7 B
Person B 3 6 5
4% 2 3 B

The optimal solution is A-3, B-1, C-2, with Z = 10.

¢ (@) Use the computer to verify this optimal solution.

{b) Reformulate this problem as an equivalent ransportation prob-
lem by constructing the appropriate parameter table.

€ (¢) Obtain an optimal solution for the transportation problem

formulated in part (5).

(d) Why does the optimal BF solution obtained in part (¢} include
Some (degenerate) basic variables that are not part of the op-
tmal solution for the assignment problem?

4 rt}“w consider the nonbasic variables in the optimal BF solu-
ton obtained in part (¢). For each nonbasic variable x;; and the
corresponding cost ¢, adapt the sensitivity analysis procedure
for general linear programming (see Case 2a in Sec. 6.7) to
determine the allowable range to stay optimal for ci.

a 2 " . e
m,;g, ({mm the linear programming model for the general assign-
! problem given in Sec. 8.3. Construct the table of constraint

coefficients for this model. Compare this table with the one for the
general ransportation problem (Table 8.6). In what ways does the
gencral assignment problem have more special structure than the gen-
eral wransportation problem?

| 84-1. Reconsider the assignment problem presented in
Prob. £.3-2. Manually apply the Hungarian algorithm to solve
this problem. ( You may use the corresponding interactive pro-
cedure in your lOR Tutorial.)

8.4-2. Reconsider Prob. 8.3-4., See its formulation as an assignment
problem in the answers given in the back of the book. Manually
apply the Hungarian algorithm to solve this problem. (You may use
the corresponding inferactive procedure in your IOR Tutorial.)

8.4-3. Reconsider the assignment problem formulation of Option
2 for the Better Products Co. problem presented in Table 3.29.
Suppose that the cost of having Plant 1 produce product 1 is re-
duced from 820 to 720. Solve this problem by manually apply-
ing the Hungarian algorithm. (You may use the corresponding
interactive procedure in your IOR Tutorial.)

8.4-4. Manually apply the Hungarian algorithm (perhaps lusing
the corresponding interactive procedure in your 1OR Tutorial) to
solve the assignment problem having the following cost table:

p—

Job
1 2 3
1 M 8 7
Person 2 7 6 <
(D) 0 Q 0

| 8.4-5. Manually apply the Hungarian algorithm (perhaps using
the corresponding interactive procedure in your 1OR Tutorial) to
solve the assignment problem having the following cost table:

Task
1 2 3 4
A 4 1 0 1
Assignee (B: ; 3 ‘_: g
D . 2 3 0

| 8.4-6. Manually apply the Hungarian algorithm (perhaps using
the corresponding interactive procedure in your IOR Tutorial) to
solve the assignment problem having the following cost table:

Task
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